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Outline-Economics, October 10, 2006, Peter Bohmer
1. Problem set due Friday, 10/13--first five problems refer to Understanding Capitalism by Bowles, Edwards, Roosevelt (BER)
2. Key ideas from Ch. 4, 5 of BER
History of Economic Thought—a field in economics—Economic theories that develop are influenced, shaped  by economy and economic system, developments within economics, dominant ideology and  counter ideologies.
Economics –study of production, exchange and distribution. Economics (political economy) developed with development of capitalism. 
A. Classical economics or classical political economy—

    1. Adam Smith, David Ricardo—focused on wealth of nations—economic growth

     2. Smith—Key book, Wealth of Nations—Key is division of labor, and growing market

      Mutually reinforcing—pin factory example of Smith
      This was key to economic growth—wealth—not gold or silver, critique of mercantilism

       Best served by laissez-faire, government wasted revenues

       Other key ideas—Invisible hand—key decisions—how to produce goods, distribute them through the free market—firms would have to produce what  consumers want, increasing division of labor, would increase social product.

      3. Ricardo—early 19th century--focused on accumulation of capital, use of surplus to expand production, wealth of nations;  supported  capitalist as engine of growth feared surplus would go to landlords—favored free trade to increase surplus. Developed theory of free trade that still is dominant today—comparative advantage  

Classical economists saw market economy or capitalism as natural, end of history

Almost all argued full employment as norm

Saw classes as main shapers of history; focus on capitalist class as progressive class.

B. Marx—more next two weeks—read Ch. 6 of BER (next week), as well as pamphlets by Marx, both are now in book store
     Wrote during period of increasing struggles between workers and capital—helped shape ideas. 
C. Neoclassical economics, beginning in 1870’s—Walras, Marshall key names
    A. Dominant economics today—focus on equilibrium.  Price determination—less on growth and change than classical economists, more static and mathematical. 
  Often called marginal economics

   B. John Maynard Keynes—

     Most famous 20th century economist—wrote in the midst of the Great depression—dominant theory before was that unemployment was temporary. 

Key idea of Keynes. —aggregate demand may not be sufficient to cause full employment. Power of dominant theory, hard for a fact to disprove theory until a paradigm shift, see Thomas Kuhn, Structure of Scientific Revolution—e.g., earth as center of universe. Keynes ideas accepted in economics after WWII, example of paradigm shift. However, under attack today.
   C. Amartya Sen—very interesting—used by U.N. to develop a different measure of well-being rather than GDP/person, HDI (Human Development Index)      

Ch. 5. of BER is key chapter-

A. Reproduction—PP. 97, labor process whose product is reproduction—child rearing, feeding, 

    Care giving—not clearly defined in book—key concept in feminist economics—see Nancy Folbre. 
B. Who produces surplus, who controls surplus, how is surplus used is key to understanding economy, development, type of society. Surplus extraction—within and between societies. 
Development-Political economist and activist Walter Rodney of Guyana, defined it , as meeting human needs, and self-determination—see his book, How Europe Underdeveloped Africa.  not GDP growth. Main argument is that surplus produced in Africa was taken out of Africa to finance the development of Western Europe and the United States. 
Surplus produced by labor processes, depends on relationships within an economy and between economies. (P95 of BER)

Total Production = Necessary Product + Surplus Product

                               Necessary Product = normal consumption of producers + depreciation 

                                                          of capital goods used + replacement of materials used up

Note:  Maintenance of  environment should also be subtracted from production to get surplus

                  (see diagram below),  and  from total product to get necessary product
Surplus = Total production – Normal Consumption – (Depreciation + Materials Used up)

Net Product (NNP) = Normal Consumption + Surplus = Total Product – Depreciation – Materials        

                                    Used Up.

additional concept, Potential Surplus, See Paul Baran, Political Economy of Growth                                                                                            

See BER, pp. 103; diagram I drew on black board
 Workshop Problem on Surplus, also similar to question for Problem Set:

Similar to example in Chapter 5 of Understanding Capitalism.

A word on models—to show important relations in a very simplified picture. 

Problem—I will write answer tomorrow

A family spends 2000 hours in a year on producing corn and 2000 hours on reproductive work

It takes 5 hours to produce a bushel of corn so 400 bushels are produced 

The land where the corn is produced is owned by a capitalist who pays the working class family, the producer, 200 bushels for 2000 hours of work, or 1 bushel for every 10 hours of work

In producing corn, 12% of the corn produced is used up as seed

In addition, 60 bushels are needed to feed the draft animals (investment)                        

1. How big is the net product—show in a diagram, what is the formula? 

2. How large is the necessary product? The surplus? Explain!! Show in a diagram!

3. What is labor-savings technical change? Give an example. If it now takes 4 hours of labor to produce a bushel of corn, and if production remains the same amount, what happens to labor’s income, what happens to the surplus? How might the worker family gain from this technical change?  If labor gains ½ of the growth in productivity, what would happen to wages, surplus?

4.   What is capital-saving technical change?  Give an example? If in this example only 78 bushels had to be now set aside to replace the seed and feed the draft animals and if wages stayed the same as in the original example,  what would the surplus be? Show this is in a diagram.

5. International Trade--If this farm now imports two machines, which together increase production by 50% with no change in labor needed, what would happen to net product, the surplus, if each machine costs 20 bushels? if each machine costs 50 bushels? if each machine costs 68 bushels? Who gains from this trade? Use whatever assumptions you find plausible. (suggested ones:  the machines last one year, seed is still 12% of total production)
6. Using Chapter 5 and this example, how else could the employer increase the surplus product?

7.  Using Chapter 5 and this example, how could the producers increase their well-being?

Do the interests of the employer and the producer conflict? Explain.               

